
2 - TIR DE PRÉCISION 

 

 

 

 

J1  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 
J2  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 
J3  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 

 

 

 

 

 

      TOTAL 

J1  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5  
J2  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5  
J3  0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5 0 - 1 - 3 - 5  

Cible touchée réglementairement 5 pts / Obstacle déplacé 3 pts / impact alvéole 3 pts / impact tapis 1 pt 
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